132

20246 A27H EHM

B AEMR =& [WE XY AR

BasGH 7k

BERREWRE . & | R i & B R EWRE . 45K | R ¥R 353
0456 VLA HEIRLBEAR¥R 3 18 AEMIRIZEAR = 1 6000
03 EFEZFS5RS = 1 4700 19 EERNSHEBHEAR = 1 6000 | Fp5e i IRRLIX
05 K%K HIRME = 1 5300 22 WP ESTEEAR = 1 6000 Fp5 i P RIREIX .
07 IARPIREH = 1 4700 24 HerEEAR = 1 6000 Jp5 i PR X
0457 FEHRHERL B 50 27 B = 1 6000
03 BT = 10 4700 29 AEEVITRHEARGEH = 1 6000
04 SJEFRRGER = 10 4700 0471 AlBKER ML 2£BE 100
05 #HXEHERS = 15 4700 03 KB =, 20 5000
06 FUACHE = 15 4700 07 T = 15 5000
0459  FEERHEERL BT 21 09 BEFHEHA = 20 5000
02 MR SREHA = 5 2200 feAh k. 11 KREdR S 2 = 10 5000
04 HLE— AR = 1 5300 13 RUHE =, 10 5000
05 ZjihEEAR = 5 5300 16 “FHIHE = 15 5000
08 HITR% = 3 4700 17 INERE = 10 5000
09 HIEEHSHFIZE = 7 4700 0473 WidbsT IR EAR 2B 24
0460 FRMB BB AR 6 01 JEESHRIERAR = 5 5000
01 KEdR5 it = 2 4700 04 KEHE 5L = 7 5000
02 HTR% = 2 4700 06 FEEIH TR % = 5 5000
04 iR = 2 4700 07 Wi = 7 5000 | S IACITETE . B HEMTHA L.
0461  FiMH TAVBRE B AR B 5 0474  EPIR T EEBL# B 1
01 TR =4 5 4700 . T —ERRERKX, ZEEH
0162 HMEARULBEAER 1 02 HXERIHEY - .
01 EFERBHEA = 4 6200 0476 101 SRR B AR B
0466  REHEFLHEAR¥R 10 03 NS FUHE =AE 5280 | Ap s AKX .
01 FSTREHA = 1 5000 0483 R £ FURA 5 R BOL R
04 FFUHEATREAR = 1 5000 01 [ :BHEAESEE (R ™8 = ) 5500
05 TFEE = 1 5000 ic)
07 Bl —fLHiAR = 1 5000 02 FFFM TREA = 3 5500
10 TAkHLEE AHAR = 1 5000 07 il = 3 5500
12 EANSFHEA = 1 5000 0485 LFRRBCRHEIR L 2B 25
13 HifeBRERA = 1 5000 01 BB = 6 6200 G th Lol
15 A HA i 1 5000 03 EHHEE = 10 2200 e th ik,
18 iHSIHLR A EAR = 1 5500 05 Fr5h 25l A FE = 9 4700
20 ATLEReHARH = 1 5500 0487 I ARBHHBML ¥ BE 16
0468 BRI AR TAZRL 2% 13 02 @HFCHM TREA = 1 6050
03 FHBiE 5K = 1 6000| % bl 03 @ TFEHAR = 1 6050
06 Bl — AR = 1 6000 | Jp2dth i mIRIAZIX 06 HUkkHl &% [ 3k = 1 6325
08 WiEiHEA = 1 6000 | 32l i P IIARIX o 07 Hlb iR = 2 6325
09 HATEBMEEAR = 1 6000 /p2:t s HERIAZIX 09 HifEBITERA = 1 5500
11 FABUSHEA = 1 6000/ 02 i FIRIREIX o 11 AR = 2 5500
14 REHESREEA = 1 6000 | Fp3: b MK 13 BAGIGHA = 1 6600
15 friddese iR = 1 6000 15 BURIRUE A = ! 5500
LRt 585 Wl PN LRHtE % 86 T P ES
BER R BT £FK | R i I B BB AT BFR | R % &
17 RERNSgEBEAR = 1 5500 0496 Mk F 5 BHR L AR ¥ By 5
20 PFEEHUMER AR = 2 6325 01 R KRG AR 5 5100 Fp254 e KAFREX .
21 IRADERA = 2 5500 0497  FH TN BAR B 8
22 R¥HRG = 1 6072 03 RiEkH RS =4 8 6500 | ApF s T HEARBRRSIX o
0488 FE LM B EAR ¥t 5 0499  MA/REHIE BB A 2B 10
05  FhigiilfERA = 1 7150 02 EATRANHA =X 10 6000
07 HWTR% = 4 7150 0500 FBAITAR ML BrER Y 2 B 75
0489 2 HBLHARFBE 10 04 [EZHAR = 5 6000 | G 4h £l
01 HAHBMEEAR = 2 4500 05 BN = 5 6000 | G 4h Ll
03 TEREARMEI = 2 4500 10 EfhoEsE = 15 6000 | G2 4h Ll
06 AR HigE = 3 4500 11 B EH RS 55 = 30 6000
_ It 22 NI AR B LTSS 13 K52 = 20 6000
07 SNHE = B 0l 0504 R ACRHEIRALE R 5
0490  EJRIMLBAR R 115 01 PFSEHLR AR A 2 5300
02 [EMHAR = 4 3000 | kb ko 03 KA 500 %5 3 B 3 4700
05 e = 5 3000 | kb LMl 0505 YL TRBULS 14
14 BEANBHEA = 1 4600 01 P2 5 THA = 2 5000 | kbl
20 HAEIRIRAERAR = 2 4600 07 e 5 Mt B it = 2 5000
32 ANRHIEEAR = 2 7500 08 HTHH = 10 5000 |55 2 o
33 I = 25 5460 | 7pHi R BEIKIX . 0506 YL 2B 2B 17
37 Wi = 7 5460 Fpopdt e PE TAZIX . 01 B KHHR = 7 5000 | Fp2Fdt i\ HELBIRLIX o
41 hEeE = 3 5460 | JpEdiE: BETREIX . 04 KEEES 2t = 10 5000 | 7524 AT FFBAFLX o
45 PEFEEEA = 4 5460 | /p5Edai: PR IALIX 0507 YT R A AR BB 1
49 BEAERIHAR = 8 5460 |/pFdlai: BEIALIX . 01 K305 TAEHR = 1 5000 | G b ol
52  HRALEEEAR = 6 5460 FpF A PR TAZIX . 0508  JUlskERME B AR 2B 15
55 KHE 500 % HE = 8 3500 01  Jigihis i #8 = 5 5250 |p s AREREEX o
57 KA St = 8 3850 02 5% 5iE = 5 5250
61 HTRI% = 7 3500 03 X RS = 5 5250 | pFdl i AR IX o
64 JikilEE I = 6 4600 0510 AR MR ER L 2 B 2
66 Mtk 2R B = 2 7500 01 AR 5% g = 2 5280 | kb ko
68 METZARBI = 2 7500 0511 B FRBMEARSB 6
70 ERIHEH = 15 3200 02 ZEE = 3 5280 | f b Ll
0491  FKFFAMAE TALBPALE AR % B 4 03 Bl —AEAR = 3 5720
02 i E = 2 5060 0513 PU)IBRLEAR 2B 10
03 Fiff = 2 5060 01 Tk FLIRE R B A = 5 5720
0493 WL ZEARBL B 3 07 HEIBAR = 5 5280
06 FEFARE A = 3 6500 0516 TR S B AR 2B 6
0494  REASEINLF B 3 01 LA = 2 4700
02 BT FE = 3 5000 02 Fis TR E = 2 4700
0495 WA L H BB 10 04 K541t = 2 4700
01 W% = 5 4000 0517 AbAKFIAK A BRI B A 2 B 15
04 RS ERAR = 5 4000 01 /KR TH = 15 5000 | G b Lo
LRt 87 W BEEN LRI 5 88 Ul P



